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(Please read each of the following instructions carefully before attempting questions)

(30X &7 & Yo freatoiaa (&9l &1 F9ar reaerEyds 9eg)

1  There are eighteen (18) questions in all. =
@l o erE (18) wed ¥ &N

2 Candidate has to attempt any fifteen (15) questions in all.
gl ® ga dgE (15) 9ei & I < 2|

3  Marks assigned to each question/part are given against it.

Y& 99/ & fow fag o 39e amH fiu o #)

4 Word limit in questions, wherever speciﬁe,d should be adhered to.

gel @1 oA, siet faffds &, &1 srga fear s e

5  Attempts of questions shall be counted Sel]uential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the answer booklet must be clearly struck off.

TSl % YTl Y ITUMET HATER B SR | i €9 ¥ QU T g & I B A AW & SR
gfy S/ BT 7 T B | IAT GRaH A Wl B T g IS FAAT S F A Bl B AT

6  No extra/additional sheet will be provided.
i3 arfaiiea offe Juaed 81 &g S|

7  Answer must be written in the authorized medium. No marks will be given for answers
written in a medium other than the authorized one.

Ul & AT had WaGd wregd ¥ o 9 @ifew) wiftga At & sifaftaa o R wrea o
fe ™ IO W @i o TE fae)
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Explain the difference between the Indus civilization and Vedic civilization. 10

oy Twgar ot s Twgar ¥ o @ Fifwwy

“Sacrifice was a ritual and a form of Soc1al exchange in Vedic India”. 10
Comment. :
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Discuss the rise of Magadhan imperialism up to the times of the Nandas’ 10
with particular reference to its policy towards the non-monarchical state.

ﬁ—ws@m%ﬁﬂ%%ﬁsﬁmﬁﬁﬁ%wmmvw
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Describe the “Madhyama Marga’ of Buddha and explain the spread of  5+5=10
Buddhism.

I8 & HEA A K1 A HIAC q1 W o F w9 A e D)

Kautilya's Arthashastra is an important book on state craftsmanship, 2+8=10
give reasons.

Hifeed B erefemer WS Rew Fow W wF TE@qet 19 3, sro S

Assess Ellora as a unique art centre of different cultural streams. 2+8=10

fafirT g aTaal % T afid wE R B w9 § U @ e AR

Discuss the Turko-Mongol theory of sovereignty. To what extent 2+4+4=10
was it adopted by Babur and Humayun.

Ww%ﬁ—mmﬁwmlwmwﬁﬁmawm?

Explain the political conditions of Indiéi, mentioned in Babur’s autobiography. 10

AT BT SATHBAT AT WG B Ao 9meR @1 aui Fie
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9 Elaborate the Deccan policies of Akbar and Aurangzeb and compare  3+3+4=10
them.

HHIT X ST & 9% (Deccan) ifaal &1 faar @ aofq &Y X 3700
AT L

10 Was the revolt of 1857 a mere military‘ revolt or first war of 5+5=10
Independence? Support your answer with two arguments.

w1 1857 @1 faste o A fagie ar a1 v wdsan UM ? 39H 99X @l
gud & Tl § BT

11 Trace the condition of India in 18t century and narrate the factors 5+5=10
which led to the success of British.

18 gt ® wa @ Rufd &1 gar wd 3R 3T BB BT GUH B (ST BT
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12 The partition of India led to one of the biggest migrations in the 4+6=10
history of mankind. Trace the causes and discuss the aftermath of
this on the Indian polity and society.

qd & 99 3 79g g & 3f0ed ¥ 999 99 Y99E ¥ ¥ UG HI 99 )
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13 Compare the policy and methods of the liberals and militants in Indian 5+5=10
freedom movement.

. : i g A S o
HITT |

14 “The Quit India Movement deviated from the basic Gandhian principles”. 5+5=10
Trace the causes and its contribution to'the freedom movement.

‘I BIE! AiRie givarel Tiderer fagial | foafad B T 38 s e ek
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16

17

The Constitution of India does not accept the principle of strict separation 10
of powers rather it is based on the principle of ‘checks and balance’?
Explain.

T &1 Hfae ofedal & 9 JUah & HEid & @H Tel bidm & divd I8
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Greek Civilization is famous for rise of city-states, its philosophers 5+5=10
and development of art and architecture. Give two examples in support
of your answer.

Weh FRIAT el % 359, 39 Q0T 37T w1 S argebett & feebr & forw
sfrg &1 o ST & wd @ wameer A

How can you define Mao as a chief architect of modern China? 10

AT AT B AYHH 99 & 7 aRGHIR & &Y F H qfAoa BT Tabd & ?

Trace the growth of capitalism in Britain in the seventeenth and 5+5=10
eighteenth centuries. Why France, ]agggd behind Britain in developing

the capitalist spirit and the institutional framework of capitalism?
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